
CB650F 2014> Belly Pan 

Kit contents: 

2x mountng brackets

3x M6 x 16 fange head socket
3x M6 nylock nut
3x M6 fat steel washer
 
4x M6 black  plastc washer

1X M6 x 30 fange head socket
1x 20mm black plastc spacer

Method:

 Refer to fgs  1 and 2  for general layout of brackets. Atach the two brackets as shown – 
Using original engine bolts – Fully tghten. 

 Loosely atach belly pan to these brackets with 3 x M6 x 16 screws, with black plastc washer,
fat steel washer and nylock nut.

 The fourth fxing point is into a pre-drilled and taped hole at the botom right hand side of 
the bike chassis. Use the M6 x 30 screw and black plastc washer along with the 20mm black 
plastc spacer provided. 

 Now tghten all four mountngs checking for even clearance of the belly pan – especially 
around the exhaust.  

Fig 1

                                                                                        Fig 2


